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(English Version)

General Instructions :

(i)
(it}
(tit)
(iv)
(v

(i)

(vir)

(viit)

(ix)

First 1 nutes are ;
& minuies are allotted for examinees to read this question paper.

All questions are compulgory.
This question paper is divided into two parts, A and B.

In Part-A, there are 20 multi ]
. ; wiltiple ¢} i ‘
green on OMR sheet. ple choice type questions of 20 marks. Answer should be

':{:;;’?grkmg your answer on OMR sheet, do not cut it or use eraser or whitener to

50 - .

Des’:‘?" fs are allotted to Part-B. It contains two types of questions, Descriptive-1 and
riptive-2. There are two map related questions (Q. No. 29 (a) and 29 (b)).

Marks allotted for each question are mentioned against them.
Tear off ffle supplied maps from the question paper, indicate answer on them and
compulsorily attach them firmly to your answer-book.

For Vision-impaired examinees, questions have been given separately for writing
answers in lieu of map-work.
Part- A
(Multiple Choice Type Questions)

Instruction : Four alternatives are given for each of the following questions. Choose the
correct alternative and mark it on OMR answer-sheet.

1.

825 (1Z) 7

Who among the following formed a secret society named Young Italy’ ? 1
(A) Victor Emmanuel II . (B) Giuseppe Mazzini
(C) Otto von Bismarck (D) Giuseppe Garibaldi
The country related to ‘Corn Law’ is : _ _ 1
(A) Germany (B) U.S.A. (C) France (D) Britain
When was Napoleon Bonaparte defeated ? 1
(A) 1810 (B) 1816 (C) 1817 (D) 1818
The Great Depression had the worst impact on : | 1
(A) Technology (B) Agriculture sector
(C) Transport (D) None of the above
‘Gulamgiri’ (Slavery) was written by : 1
(A) Jyotiba Phule, (B) Dr. Rajendra Prasad
(C) Mahatma Gandhi (D) Motilal Nehru
Which of the following subject is related to Union List ? 1
(A) Defence (B) Agriculture (C) Education (D) Commerce
P.T.O.



. 1 : 1 %
7. I,ﬂl]g‘uﬂg‘p‘q have ho{;n plﬂ{'(‘d in whi(‘h Hch(\dul‘, nfthf" [ndlaﬂ Constitution !
Twelfth

(A Third (B)  Fifth (" Kight (D)
) \ . . .. I)
8. Which one of the following statements ahout India's Constitution is incorrect

(A} Prohibits discrimination on grounds of religion.
(B} Gives official status to one religion.

(Y Provides all individuals freedom to profess any religion.

(DY Ensures equality of all citizens within religious communities.

9. ‘Rule of the people, for the people’ is the feature of which system of government ?
(A} Monarchy (B) Democracy
() Dictatorship (D) None of the above

10. In the context of assessing democracy, which among the following points is
against the democratic system ?
(A) Independent and Impartial Election .
(B) Dignity of Person
(C) Rule of Majority
(D) Equality before Law

11. Which one of the following is the correct classification of resources on the basis of

their mode of origin ?
(A) Only biotic (B) Only non-biotic

(C) Both biotic and non-biotic (D) None of the above

12. In which city was the first International Earth Summit convened ?
(A) New York (B) Rio de Janeiro
(C) Paris (D) New Delhi

13. The period of sowing of Kharif crops is :

(A) June-July
(C) March - May

(B) October - December
(D) August — October

4.  Which of the following is an energy mineral ?

(A) Iron ore (B) Mica
(C) Natural Gas (D) Limestone

5. An example of agro based industry is :
(A) Iron and Steel industry

(C) Chemical industry

(B) Cotton Textile industry
(D) Cement industry

5 (1Z)



16.

17.

18.

19.

20.

In the Indian Railways the total nu

mber of Rai 9
(A) 16 er of Railway Zones is

(B) 18 (© 10 D 12
'(I:)e Ecmhlomic sector of information and communication technology is :
Jrimary (B) Secondary
(C) Tertiary

(D) Quaternary

In which year was the Consumer Protection Act passed ?
(A 1992 (B) 1986 (C) 1990 (D) 1995

The development of a country is based on :
(A) Per Capita Income

(B) Average Literacy Rate
(C) Health condition of the people
(D) -All of the above

In which year was the MGNREGA programme started ?

(A) 2000 (B) 1995 (C) 2005 (D) 2010

Part - B

Descriptive-1 : Answer the following questions in about 80 words.

21.

22.

24.

Why did industrial production in India increase during World War-I ?

OR
What do you understand by G-77 countries ?

‘Democracy is better than other types of government.’ Explain.
OR

How does democracy organise an accountable, responsive and legitimate

government ?

4

What do you mean by Globalization ? Mention its impact on industries in India. ~ 2+2

OR
Throw light on the development of railways in India.

Suggest any two measures to prevent soil erosion.
OR

4

242

How is the quaternary sector different from other sectors ? Explain it with two

examples.

825(1Z) - 9
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Descriptive-2 : Answer the following questions in about 150 words.

25.

26.

27.

28.

29.

Mahatma Gandhi about

What is meant by Satvagraha ? What were the views of 944
Satyagraha ?
OR p
Explain the main reasons for the rise of nationalism in India.
6

Describe the specific features of the Federal syétem of government in India.

OR
‘India is a secular country.’ Explain on the basis of any three pm‘dsmnsi 1,1 1
1=+1-+1 2 +1 3
2 2

Explain the economic importance of Indian forests. 6

OR
Describe the production and distribution of mineral oil {petroleum) in India. 3+3

Analyse the role of loan in economic development.
OR '
- . 6

Give an account of the Consumer Movement in India.

(Questions related to Map)

(a) In the given outlihe map of India (on page 13), locate the following places
by the symbol (® with names. For correct mention of name and location

! , I marks have been allotted.

2’ 2

(i) The place where the session of Indian National Congress was held in
September 1920. 11
' ‘ .2 2
(i) The district where Jallianwalla Bagh incident took place. 1.z
2 2
(i) The place where the Indigo Farmers Movement took place. 1.1
. 2 2
(iv) The place where cotton mill workers held Satyagraha. I.1
2 2
(v) The district where Chauri Chaura incident took place. 1.1
' 2 2

10
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29. (b) - :
In the given outline map of India (on page 15), locate the following places

by symbol with names. For correct mention of name and marking of

location .

> 3 marks have been allotted.

(1) One important river of Odisha State by symbol >, with name ; + i
(1)  The capital city of Madhya Pradesh by symbol (, with name. ; + J;
(ili) One centre of Co ' ‘ Zas
re of Cotton Textile Industry by symbol (SS), with name. 23

(iv) An important Iron Ore producing region by symbol » with
name. el
2 2
(v) A sea port on the Western Coast by symbol A, with name. % * %

A

(Only for Visually-Impaired Examinees in lieu of Q. No. 29 (a) Map-Work)

Instructions : Write answers of the following questions in your answer-book. Do not use
map.

(i) Where was the session of Indian National Congress held in September 1920 ? 1

Gi) In which district did Jallianwalla Bagh incident take place ? I
(iti) Where.did the Indigo Farmers Movement take place ? 1
(iv) Where did cotton mill workers hold Satyagraha ? 1
(v) In which district did Chauri Chaura incident take place ? 1

(Only for Visually-Impaired Examinees in lieu of Q. No. 29 (b) Map-Work)

Instructions : Write answers of the following questions in your answer-book. Do not use

map.
(i) Write the name of one important river of QOdisha State. 1
Gi) Write the namey the capital city of Madhya Pradesh. !
(iii) Name a center of Cotton Textile Industry. 1
(iv) Write the name of an important Iron Ore producing region. 1
(v)  Write the name of a sea port on the Western Coast. I

825 (12) " P.T.0.



